Joint Entrance Examination (Main) - JEE(Main)

Paper Name B.E/B.Tech.(Paper I)
Test Date 28-06-2022

Slot SLOT - 2

Lang Odia

Q:1

Topic Name:Mathematics-Section A
ItemCode:101261

RN R1=[(a, b) e NxN : \a—b\ < 13} 9Q° R2=[(a,b) e NxXN: \a—b‘ # 13}. 666@ 646 N
e :

Question:

Y @@@ R, ¥9° R, AAgRY aA¢e 263 |

R, @ R, A7g@Y Q¢ta 268 QIF |
R, 9@ AAgRY Afe 266 @g R, Q6 |
R, 9& QgAY Af16 266 @g R, Q6 |

Q:2

Topic Name:Mathematics-Section A

ItemCode:101262
A6Raa f(x) ¥@ GG AMRQE 6AURR f(—2)+f(3)=0 9@ f(x)=0 Q 695 Q1@ (§s) —1 &6

6069 f(x)=0 @ ANY Qe gFea ANT :

Question:

A1

3
"l 7
3

Q:3

Topic Name:Mathematics-Section A

ItemCode:101263
30 & 9@l gRIeR 96RI6N0R SIRRE Gl Cp, Cy, C, ¥9° C, IR @9l QIRE 69a8@ C, a0 4

§ 9Q° AQRYA 7 § 96RIENE AIRR, C, AGRE 2 T 9e° AR 6 & F6RIENE. CIRR, 6569 FERIENE
QLUAIRYQ! JRIQQ A°¢Yl AAIR :

Question:

Ali205
Blplb
C|/510
D430

Q:4
Topic Name:Mathematics-Section A



ItemCode:101264

11
(1- 22 + 32%) [gxf’ ~ %J ,x #0 9 9AI0E6R ¥ 8 TG 26T :
24 4

Question:

Al =

0
38
200

39
200

git!
50

Q:5

Topic Name:Mathematics-Section A

ItemCode:101265
9@ n 661G CRIAIR 9E] a 9Q° 100 FRIER QY QULIRE IR g 99° 64F FRIAIFR QIS 1 :

7 NQ@° a+n=233 UET | 6662 n @ ¢MY AT :

Question:
Al21
Bl.22
Cl23
D 24

Q:6

Topic Name:Mathematics-Section A

ItemCode:101266
6eea £, ¢: R — R 900 9@q

f(XJ={

[x] , x<0 e*— x p <Al . -
66U QUL @I 6XR0IER [x]

-4 , x=0 (x-1)2-1 , =0

Q 2e, x 0lg QAP QY AAIR ARG JIA Yl 26T | 6669 TRR fog(x)e FER 622l A0R
Question: 9@" 9l
A 6aIBN Qg
Qa6 9Q
P6QIT Q9
D —
Sl6QIG Qg

Q:7

Topic Name: Mathematics-Section A



ItemCode: 101267

6998 f: R — R 9@ 2000910 IRe 609a& f&) =3, f@) =0 9e° fg) =1 9Q°

E1TY w 4 7
C6RaQ X € [Z’ E} aiR g(x) = J'Trf (f' (t) sect + tant sect f(t)) dt 666@ Lm _g(x) aqie
* x—|Z
2

Question: :

Al2

B3

C 4

D 3

Q:8

Topic Name:Mathematics-Section A

ItemCode:101268
A608Q f: R > R 6QIfY §Qega @@ 64U6a A998 Q199 Q°¢y x dia,

4nk
f(@) +flx+k)=n 6090168 k > 0 48 n 9@ g4IARgs A6yl | A7 I = [ f(x)dxr 9
0

3k
I = [ f(x)dx 24 686@ :
K

Question:
[, +2L, =4nk

B [, +2I,=2nk

I, +nl, =4nk

I, +nl, =6n%k

Q:9

Topic Name:Mathematics-Section A
ItemCode:101269

58 g

Question:

= %‘—|x+ 1| 9Q° x- 2Q QIQl U VYR AT 26T :

e

4
B 45

16
€| a7

8



D 63
16

Q:10
Topic Name:Mathematics-Section A

ItemCode:101270

R o~
60aa 2y e/ dx + (y2—4xexf‘f2 )dy = 0, 2QRRRIY AMGRER x = x(y) AFNJUIL 26T 6AURE

x(1)=0 6969 x(e) AR :

Question:

A e log,(2)

=

—e log,(2)
e 10g,(2)

~? log,(2)

Q:11
Topic Name:Mathematics-Section A

ItemCode:101271
6209 (1, 1) @Q0I6R 91 y=f(x) AU6R 2ax 2Ie1 (6Q9), 2 tanx(cosx —vy) AU6S | 9&@ QG

/2
(74, 0) 8g com 6@ @6a cese [ ¥dx @ gRy AAIR -
Question: 0
| el # 2
2-2) + =
J2
B "
o L
V2
| lzadEl 3 2
23T 3
J2
D m
2+ =
V2
Q:12

Topic Name:Mathematics-Section A
ItemCode:101272

6eea 696!l L, : 2x+5y=10; L,: —4x+3y=12 9e° 6a4ll L, QIQI 2o\ I8 G 28, alel og
P(2, 3) ¢kl 69@ 66 @9@, 604l L, § A 9 0I6a 6 666l L, § B @g Ol6q 682 @8 | 9% §g P,
6QgIss ABQ 1:3 2QdIFeR 228 ANGHE Q6Q), 6669 GYRTR IeTR AR :

Question:

t 1w
13

132
13



R
13

> 151
13

Q:13

Topic Name:Mathematics-Section A

ItemCode:101273

2 2 ,__ -
eRaq e 4Q° [ WaIQEY RIQUACIRI x_z — y_z =1 9 QAL 9Q° Kluelila = dd'e,

a b

a>0,b>016620a e 99° I' A2IR6A A°gg1 (FRZ69G) 2RUREAN RAERL I° ARMIQ AL,

268 198 2 = 211 ve () = L1, 6o6e 77a+44b @ e QAR -
Question: 14 8
A 100
B 110
€ 120
D 130
Q:14

Topic Name:Mathematics-Section A
ItemCode:101274
_>

e A A Fa¥ —> N Fa¥ N T — —
60aQ a =ai +2j —k 99" b =-2i +aj +k,aeR 140G a 9@ b Q8 g&a 9@
AIFIEe 689eq Aag (AHAY) Q2 ST IQ° YRIQ 6IYTR 15(a2 + 4) 26 cose

—>‘2 (—)—)) —>|2
2lal +\a-b) [b| @ gayaqie

Question:
Al10
B\ 7
co9
D94

Q:15

Topic Name:Mathematics-Section A

ItemCode:101275
A2 ¥R IIERINQ A1d BQF (2, —1) 9&° YPIR AR 6aHIQ ANRAEEF 4x—3y =21 26T 666

9210 QIARUIQ 67aY 26T :

Question:
AlD

B 8
Cl12
D 16



Q:16

Topic Name:Mathematics-Section A
ItemCode:101276
A6RaQ AASR axr+by+cz=d & €9 (2,3, —5) 69R 96 @6Q 9° 2x+y—5z=10 @

3x+5y—7z=12 Q7eR Q@G 96 @A 26 | 9@ a, b, ¢, d @@ gda°eyl 468, d >0 9 ([, b,
o, d)=1@ &8 |a], b], [c| 8 d @ AUAE AR 1 2UES | 6606@ a+7b+c+20d Q@ Fai AAIL :

Question:
Al18
B .20
C 24
D122

Q:17
Topic Name:Mathematics-Section A

ItemCode:101277
f@)+2f(b) —f(c) =f(d) A8q I8 @ 626G {a, b, ¢, d} § 699 (1,2, 3, 4, 5} g8 AL AR

N@-Ng T Q@QQ 4Lyl 2ee :

Question
Al 1
24

Q:18

Topic Name:Mathematics-Section A

ItemCode:101278

lim 6tan{itan_l[ - - J}aqm QG :
T

n— oo r=1 +31"+3

Question:
Al
B2
cl3
D 5

Q:19

Topic Name:Mathematics-Section A
ItemCode:101279

A A

U P, SR ) - ﬁﬁ(ah)ﬂ@frﬁ
AERAa G a @dle 3i +E;+2k ge mA 260 1 9@ a x \2i + k) =2i — 13j — 4k,

— A

P A
606Q Qdle a Q @AlE 2i + 2] + k QUEQ AWEIU 26T :

Question:



a
W wla T oW

Q:20
Topic Name: Mathematics-Section A

ItemCode:101280

- %) ™
A% cota=199° secP = —g, 6QW0I6a T < a < % 9g° = <B<T, 6669 tan(a+p) & A

Q° a+p AQEe @@l div Jaiaed :

Question:
Al 9

_? NQ*° 9gal dIw
B 7 ggr dalel die

€ —7ve° eqd ai@
D

1
7 Q@ gélel diw

Q:21

Topic Name: Mathematics-Section B

ItemCode:101281
6 y—1 z-2

: QUeq P(1, 2, 3) 990 96@a 26T | F160aQ

6690 Q 96 caell L: > ;

R (o, B, y) @ @Q Q121 PQ 6Q¢I¢aq 1: 3 AQUI06R 2L86RQ FQR | 666 22 (a+B+y) @
aqng |

Question:

Q:22
Topic Name: Mathematics-Section B

ItemCode:101282
F6Ra0 66115 6gél1en 7 @8l 219 2ed | 99 2I@ R U@ dFIER IRl @A (1P IULIH

PAR 62 NQ° 6AANIRER 9IRS 20 F6T | 50 ARG @7 QG 8Ig IQ 6T LU 6069 USRS ST
UQHIER 6@ 62021 RI9w A°El Z6T |

Question:

Q:23

Topic Name:Mathematics-Section B

ItemCode:101283

- 2 2
4% 98 x2+y2-242x — 62y + 14=0 @ 9@ Qg8 (x — 2¢2)" + (y - 242)" =1? @

@ @l €9, 6069 2 Q flmi delle |

Question:



Q:24
Topic Name:Mathematics-Section B

ItemCode:101284
L .. sin(x? — dx+ 1)—x? + 1
a@ lim 3 5
x =1 2x° —7x* +ax+ b

= —2 6069 (a—b) @ Y QIR

Question:

Q:25

Topic Name:Mathematics-Section B

ItemCode:101285
A68@a n=1,2, ..., 50 9@, S, @ AAF FedIen 9eoR AN 26e AR g 998 n? Q°

50

T
QARIGE AAIE ——— 16667 3¢ + [Sn +
(n+ 1) n=1

5 n-— 1)
1 Q gay IR
Question:

Q:26
Topic Name:Mathematics-Section B

ItemCode:101286
A 9RAIe A2 ANRQE :

2x—3y=vy+5,

ax+5y=p+1, (6QR0I6Q a, B, y € R) AA2Q A6 AL 2, 6669 |9a+3B+5y| @ Jau
aqe |

Question:

Q:27
Topic Name:Mathematics-Section B

ItemCode:101287
1+

eaaa A = [
—1

1 e
0]’ 6960 i = V=1 6069 626 {ne {1,2,...,100} : A= A} @ Q@IQIe

geea Qs 2es

Question:

Q:28

Topic Name:Mathematics-Section B

ItemCode:101288
z=iz"+z%—z @ 3% QQASl A0 @EHAY WY z Fee URAMIR AIRTR Q6a AT AR
|

Question:

Q:29
Topic Name:Mathematics-Section B

ItemCode:101289
A6Raq S={1, 2, 3, 4] 606@ 646 {f:SXS =S :f ARG AUES 9° f(a, b)=f(b,a) = a V

(a, b)e SXS} @ QUIQIe A°6Yl AECT |

Question:

Q:30
Topic Name:Mathematics-Section B



ItemCode:101290
P, Q. 1,8 QIRI6QIT §GQ AGUAIR GEUIGER, PVIVS, PVIVAS, PVa(VS, ~PVATVS, ~PV~TV~S, ~PV(V~S,

qVIV~S, QVATV~S, ~pV~qv~s FIRE FRIEA YRI6Q AFIQ ANFRY gI9 62a2Ql 6Adq aBaIes
QY AR 26T |

Question:

Q:31
Topic Name:Physics-Section A

ItemCode:101201

v .
mn

< e n
6941 (1) 49" @0 (a) @ QGG GRE 28A (1) 9&° (2) 6 QRIF6A, V2 = 3

Q2GR | 9068 m 49 n FoUF ASR | QRS IS ANGR AR QR TAER @G 629 ?

Question:
A
113 . n2
— L1 =Lyand —Ty =T,
m m
B
114 1‘12
L]. = 2L2 and T1 = _T2
m m
C
n? ot
Li=—Lyand T) = —T
m m
D
2 114

n_L1 = L, and —2T1 =Ty
m m

Q:32
Topic Name:Physics-Section A

ItemCode:101202
ONR 6@1da QA8 a=6t2—2t 6Q YRIGRI, 6090 t @ 6A6RLER VQ° @, rads 2 6@ AAIAN | t=0

6R6R QaR 6RER 626 10 rads 1 ¥Q° 6RlEQ 2QEG 4 rad U6T | 6QlEQ 2QEER AQ0I RUYD
YRS K6 629 ?

Question:

A
3 _ 2 4 101
2
B
4 3
LI S T
3
C
wt P

— - — + 10t + 12
3 6

tS

- 1 45t + 4
2

Q:33
Topic Name:Physics-Section A



ItemCode:101203
@ GQAfIeq J96a 66 992l 2kg @ @R 4 ms ! J@6a x=0.5m § x=15 m §66a WG QT

(¢199) 9E6q gead aal | dF 214 @gael 9@ aa 996ad (9d9) @ @@ F=—kx @l
k=12 Nm~! 626R, 609 3060 QRF QT ARCTAR 99 6] KRG o9l 62l :

Question:
A gay

B 15 ms!

C 20 ms!

D 55 ms!

Q:34
Topic Name:Physics-Section A

ItemCode:101204
V34 m @ 9@ 3@ QIele 999 10 kg, Y@ Ad4 F91e QI2q AIF 088 | 3FQ dI@ 9FI1E AUER [IR

Olg 3 m REQ QR | 94 F,4e° F, 9016 02l @129, QZIIR @@ 29, F /F; @ (a1 6066 629 ?

(682 g=10 m/s?)

J

@:‘?

v/

Question: ¢ 3m )

Q:35
Topic Name:Physics-Section A

ItemCode:101205
40 m @8 @IAQ 9x 10t kg 96 A9l 2I06Q F° 9RG TgR | 50 g9e ArIedd 86e 98q U0,

436Q QUILAG FRAUGER, QRIS 100 W RIQ Muift RIF 62Q ?

(AR ¢=10 ms~?)

Question:
Al 25
B 50



€ 100
D 18

Q:36
Topic Name:Physics-Section A

ItemCode:101206
AR 9g4 T 9RE g 1@ BRY QAGIQ 1e9eq F 9R6R 2Iedd @68 | 9@ gaf 99a 1eae1aI°d

Q9Q G019 999 29190 RATUIAN, QU QR QIS 6REE 629 ?

Question:

—F

Q:37
Topic Name:Physics-Section A

ItemCode:101207
1 pm QKNS P68 @8R Q9N 29I 2egIEa 0af JdR | QIR FQeRIdT gaIs (SHeel JaiIR)

1.8x107° Nsm~29e° €09, 6% 9RGI6Q G0q 626m (a9a 106 gm—3), @AQa 28 696 6260
68Q ?

(RIIEFe Qe =10 ms—2)

Question:
A 1454%10" 6 ms™!
B 118.0%1076 ms™!
€ 132.6x1076 ms™!
P 123.4x1076 ms~!

Q:38
Topic Name:Physics-Section A

ItemCode:101208
F96a Q2GR 98 9@ 2Ied SUIAq ABCA ARG 269 2Rl | AB aIgeq 2l 40 ] oI a°ge

@al, BC 2Ig6a ga4eid e2l CA dIgea 60 ] 919 o4id @al | BC aidea o4Id @aex 50 | @idy
@AM 4@ A 0l6Q SIQR 2ILER 68 1560 | aml | CA AIF6R 9YIAT 6060 RIY @AQ ?

P

Question:



A 20]

B 30 ]
C _30]
D _60]
Q:39

Topic Name:Physics-Section A
ItemCode:101209

AFERR. AGQ GIAFIGI] IRGE FACAER V2l UFERR UG AFERR, AQNIER FNRS 62IRTER, Q6
Ckl 9@ 690 AUER @ LU UFQ ?

Question:

A 2AP600 IRMIgR 696 AR QEQ |

AP6RQ Jaclga 696 Qagd 62RTS |
APERR. IR 690 2l 62IRTR |

AP6RR. JRAIGR 690 QIAGE 621RPQ |

Q:40
Topic Name:Physics-Section A

ItemCode:101210
+8x10~6C 92 —8x10-6 C QA9 QA Qg 018 d QLU QSIKIRER | 6AAIRETR ARIGR

OleR @949, 6992 A8FI8 6.4 x 104 NC~1 6g6m, ‘'d’ QROIA R 6260 €29 ?

Question:

A 20m
B30 m
C 1.0 m
D 40 m

Q:41
Topic Name:Physics-Section A

ItemCode:101211
10°C 9@° 30°C QIdrllglea e g@eaw 20 49e° 3 Q ARl | 919 AR QL GQEG‘@EIIQQ

QITNQI goeRVT Qe FImY 6@6e ?

Question:

4 0.033 °C1

® —0.033 °Cc!

€ 0.011°C!

D 0.055 °Cc—1

Q:42
Topic Name:Physics-Section A



ItemCode:101212
9e QQUQ, JEQI9T dERRYeR Qe FI9a 12X 107> gAY AQEAUGTERT (ged) ael 9gsa

Q8 Qaueal | dEMen QAR 619, QG EARIRER AR Qa 6RIR2IBI, WRIER 6@6% Gl@

diQ ?

Question:

A 12x105
B 12%x10-3
C 18%x10°3

D >4%x10-5

Q:43
Topic Name:Physics-Section A

ItemCode:101213

A — —
0.20 m QQEI6Q, AAIBQ WER FRIEQ QYRR @R N FIRER x A FlIGIQ FEQE k QF6Q JILS

626R | go fea dgl IR 9 FrIER 2IRFE @ 2X 10~ 0 N 626m, x Q @Y Y 6960 629 ?

Question:
Al
Bl 24
Cl1.4
D2

Q:44
Topic Name:Physics-Section A

ItemCode:101214
Al 46 QM Ql e Q@ 6-Q Alalaa @ ma QARG | 9G @mea 2Ql edal Loatlg ddl all

PR IAGY QRAGS FAAAILN, IRER 6960 621NV F6AY QR QG AASIA VY 6260
6210de ? (ARG ATARE 6RIRE 699

Question:

A 2l

P olage
C gqig
D QR

Q:45
Topic Name:Physics-Section A

ItemCode:101215
1-296Q 96 @92 EM 0@ 0w 6@WY 8 mm 266 | y-Qo6q ARl @946 689R AN RIS

60 Vm~ 1 626@, 3940, 689 62l QAR 6899 20YS8 AMRad EM 604 §246a 60 QIal ¢ 629 ?

Question:

A
Py
E,= 6osinE x 10% (x — 3 x 10%)};‘ Vm !

M
BZ=2sinE x 10% (x — 3 x 103t)}k T



AN
E,= 6051’11[% x 10° (x — 3 x 10%)};‘ Vm™!

Fal
B,=2Xx 10‘7sinE x 10% (x - 3 x 103t)}k ik

N

E,= 2x1o—7sinE x 10% (x - 3 x 10%)}; Vm ™!

N
B,= GOSinE x 10° (x — 3 x 103]:)}% di

A
E,= 2x1077 sin E x 10% (x — 4 x 10%)};‘ Vm ™!

a
B, = 6osinE x 10% (x — 4 x 103t)}k T

Q:46
Topic Name:Physics-Section A

ItemCode:101216
A 90g 6304 88 IRAF AR NLLE IR 9N O JRIVEER ¥\ E7IEERR IR I 648

(L=15) q AR CAAE FQAR AF F1RIQ CAITNGR UUCR TR | AL AR Y 692 FQER
e a6a] (64N AIFAI) I, 6AR IR G196 AUAFLES GER, 6662 1 Q IR 660 ?

(9ReE 08 JRMIFER QIeLIR 62IQE QPR 9ae 6add \)

Question:
Al3
B2
Cl1.5
D15

Q:47
Topic Name:Physics-Section A

ItemCode:101217
Q@ K, 99° K, Q2IQ6e A, G2l A, 00 63 S8 QIRG QoI 98 620d9I 61661 KRG R, 9@aa

AIR 5% 68 228, (26RIR 6ASIR JI6R AINTE 626/), NQ° A =3\, 24 6669 |

Question:

APQ;-%
BK1<K—;
CK1=K_32
DK2=ﬁ



Q:48
Topic Name:Physics-Section A

ItemCode:101218

A0 Fad 6096 2IG6E (6076 Aqael) 9N UL |

(A) 60G8 ARG 1@ 2R (6QRe) Yo3dea 96dQ 26 Ye° 6RIER YQ° QAUNRR Jaal
RUER TR A6Q |

(B) Q9 621008l Qugaq Q¢ (6053 AIFR AMRNER) AN AR IFEUICRRAYIN VS 29 |

(C) log, (A9 c2Ia QaQ QGHAQ) Vs. AL giga 6gid, A A cIae (1) @ 6adcgIRIng
JRIE FEQ |

(D) «a 8QIw (\) 99° 2GR (T /,) @ GETR AAALE G6L |

Q2UARR| dd9aq QUYD Qe Q9 :

Question:

A (A) ¥G° (B) 609%
B

* (B)

4g° (D) 699
€ (B) 4@ (

° (C) 629@

D (C) 9e° (D) 6@9@

Q:49
Topic Name:Physics-Section A

ItemCode:101219
006a @AY caImess V., @dIKIag | p-n e@eq @6aia (D; 891 D,) @ @6, I 6AUNETS,

0.6 V &6¢ | 2IRSES, 6RIMEeR, (V,) 916l 62w 63, ¢l a0 &6s 2

RQ
Vy (V) ——AA

Question:

A VD‘




CV,

Q:50
Topic Name:Physics-Section A

ItemCode:101220
V oy =10[1+0.4 cos(2m x 10%) | cos (2 x 107¢) QIR AIA FIGRE Q6] IS FRUTRI | 2D,

AlIgRe oo AFg ISEedR Y 6REE 629 ?

Question:

Al KHz
B 20 MHz
C 20 kHz
D 10 MHz

Q:51
Topic Name:Physics-Section B

ItemCode:101221
wedl LU EMERIERELINER GIOR 61D 2 AN Aidal 696w 1.22 mm, 1.23 mm, 1.19 mm, 1.20

mm. Q8¢ feal | gGae g8 =
Question: 121

% 6¥6m, x Q ¢mY . 6EQ |

Q:52
Topic Name:Physics-Section B

ItemCode:101222
NG 600 dIXI9 69Re 90 6WINEE's Vz =8 V Y@° Gl@clc‘:i@ TR0 @EQE IzM =10 mA 26T, @ RAYL,

6RINESR, V,=10 V G2l 644198 go6aidl R=100 Q UGS QUK |

996a R, 0696R 621091629 6RI6, gO6RI 266 | DA 1e° ASRE R, IR 29410

6L |
—— /A
R=100 Q
-
V=10V — "X Ry
V,=8V
Ly =10 mA
Question:
Q:53

Topic Name:Physics-Section B



ItemCode:101223
450 nm 0o 63dY 899 ARG ERIR 6RIRAR!, AT PR JO UNAdca Fea ERlER 69I6eR

(@) 0.35° 98 42, 909 2 m 6T |

~ ~ ~ ~ 1
4Q d91q 7/5 godadia flliFeq Q62a @eIdiN, 6RlEQ 67165R " 29 | a @ ¢mY

cEQ |

Question:

Q:54
Topic Name:Physics-Section B

ItemCode: 101224
@EIIEJIQ?JQI QIQ@‘S‘\GQ VL @ell VC o ¢lmi, VR ol Qagdl 2es | f=50 Hz, €26m aN@MQ 6@Q

1
— mH 99 | K @ g8y 629 |

K
VR
50 |
G Ve
L

220V,
50 Hz

Vi

Question:

Q:55
Topic Name:Physics-Section B

ItemCode:101225

- ~ ~ a
QEER W9 geolin goeakila ¢mi 1 Q) 99, @cad I" @ gmY 5 A 6291 ‘@’ @ g

266 |

I\

e
L

Question:

Q:56
Topic Name:Physics-Section B



ItemCode:101226
5 pF AUIGRIR 9@ Q"@I@Q 30 V 9990 4169a1 QI QIe @AIFN | PITER UETRT IR FAITR

4Q° QIFe A°016Qq 10 uF @ 2d SIFe A6 6 (5960 gar) | §o, 90 AR AIAGER

QIR 06 @6a | AR (ANge) 2egica §o1a A°RIRE C, @ olF pnC 699 |
\
SuF| |10 wF
G G

Question:

Q:57
Topic Name:Physics-Section B

ItemCode:101227
340 Hz 21989 9@ Qi8a 9@ 125 cm Qf aIe aarl 242 (AR9a1d Q16 Q1) Talergiq 6919

(A9 y8) 6 G6x6ae (2RAID) F6Q | AQ QURER AUEQ IR TI& SRIAN 699 AYDE FAR
ARVIER ZIAUCR 6QERIFY TR, G129 6o cm |

(A28 696 340 ms—1)

Question:

Q:58
Topic Name:Physics-Section B

ItemCode:101228
750 kgm ™3 QQQQ 9@ 90R §AAI8a AR A;=1.2x10"2m? AlYs €89UR ASl O]

A' — _— < <
Ay = Tl @ IAUEQ Lo 6298 | dIRdQ 0@e! o2l °R1e digdd fdea @Id 4500 Pa 6260,

eana geI2 21a (606 2 6q)) x1073 m3s—1 2@ |

Question:

Q:59
Topic Name:Physics-Section B



ItemCode:101229
M=4kg 929 92 R=10 cm QISR I delIL 8% 9@ YLAIR IR6dn @d6a §26a fagm ad

ACIKIOE | 929917 G JIRl a9 GFE JeIKIaE, ALIER 2 kg @ @9 €08 | 990 AGml 696w
Qf g4 9626m, QEIa 000l (69997 N 699 |
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RIQG9 AB @RI gatl Qeldl°sl Irlms_l EQElER!, @@19. Q1S 1121115_1 6P YQ° 6ad

Qe1dIrd v, ms~! 6966Q AGRA @ml | A& v=30v,, v,=20; 9@ v;=11 ms~! @4, RAQ

QLR 690 ms— ! 629 |
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9@ 6415660 8.7% DIQERIEER, 74% QISR 9&° 17.3% FINEIERR 2@ | e 21658 A6

2R3,

QR : AR @gQ C, H 9e° N @ gaiges! 12,1 ¥9° 14 amu |
Question: 6dlde A @ 6AIRIQ @9Q 6298 162 g mol ~ ! |

A C4H6N2
B| G H.N
¢ CH,N

P Cl(JI_Il-’-lel
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Q7 2890 S0 @ |

(A) qay (dQuIn) QIeF 828 m'=1,2, 3, .. IR Q86 1@ AR Jeideay |

(B) WRUAIR QL FAQ ‘I ¥R QRN ‘0 (e QLA #AR) IR 7' =0,1, 2, ... n e
Ry 6RIRAIER |

(C) HIGERTR FRQ Q9N PR ‘M, Q 9@ Q68T ‘I (RPN Q9N FAK) AIR (21+1) @
2l |

(D) RENYR QI AR +1/2 6208 QAT AN 2QAIQ |

() [=5 QIR ¢4 Q6@ 9 & AR Q8Q |

QAUERIB RBYFR F1IQ 6aQ & [ goe A0 ?
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SF4 AALRIEQ ‘S QUER 2 YRR QIR 22a :
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A 210819 29ai6a 9e° 620 QRE QIR 6QIFI- QN 691G FdE 90° 6a 2N |

Q10819 29216 9e° 640 90° 6Q F6RIT YR 6QIPI-99 6QIQ Fadd 2l |
219 29gI6a 99° 620 90° 6Q F6RIT YRR 6LIRI-99 6KIP FRTE 2N |

21 2QI6q 99° 640 90° 62 Qﬁ@ @R 641 -@ 6dII dade ey |
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R 219 6dIINRR U¢) 99° 92IQ 6QARA A8 J4IR pH4 @ 9@ 9T @94 996 @0Qlg @aRIR

| CHaCH,COO™ |

Q6Q | Y@ QTR BUIE gIR eIl 2QAIe 8
[CH3CH,COOH]
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QIR 1§ IR 11 496 dAaidl |

QIR I QIR I1
(A) @ BgRIAR JIa A () Fe,O,-xH,0
(B) @RRe 9@ QLOIRIQ 2g (I) CdS AR
(C) Y@ AR IR AN () Qo
(D) 6aal (6%) (IV) 9@ 6am
Question: @ 9@9 A A0R 2eeq QIR |
A (A) - (I, (B) - (D), (C) - (IV), (D) - ()
B (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
€ (A)- (W), (B) - (1), (O - (), (D) - (IV)
P (A)- (), (B) - (), (O) - (D), (D) - (IV)
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QIR I q eIRel II 496 A |

elnel I (2910Q) eImal II (6299)
(A) CLO, I) Qe
(B) Na,O (1) QA
(C) ALO, () gade
(D) N,0O (IV) 2ea
Question: Q¢ 9@8 fg A0R 290Q QI |
A (A)- (IV), (B) - (D), (©) - (D, (D) - (1)
B (A) - (IV), (B) - (TT), (O) - (I), (D) - (M)
€ (A)- @), (B) - (IV), () - (1), (D) - ()
P (A)- (@, (B) - (1D, (C) - (1D, D) - (IV)
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RUAQ e FAdaca B gRAT Qeee 249 |
FeO +Si0, — FeSiO,

FeO 9Q° FeSiO, 62988 Q264
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g2 e QI

qlel 99 g
Bl 99° Qe
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6dI6C1R, A°EYIER QRG!

JRINER RAIFER QRO

QMG F1Y RYIAER BRO!

JRAIERe 9g96a S0
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RS Ig QA UFIRE, 62RE :

A 50,

B S0,

Cl Ca0O
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A 92l AIE R 29 |

42l 2, Qa8 8 SO, @ & {ige
99 99 RIS g9l

92l 22°0Y INERININRR RN TR
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aq edldea A0R TUPAC QIfl 6268 :

H
O,N 7z

Question: O o

A 4 FaBR-2-R1R681-5-2691620-3-0R 1R,
B 4-Geda-5-2631-2-R1R681629-3-a9IR
€ 4LHa18n-6-21R681-3-26]162¢-4-QRIR

P s-afind-Gada-2-RIR6gI6e9-3-aRIR
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(6990 Me=—CH,)

Me OH
H+
S P
Me ¢o @dl@

Question: Me
A Me

\Q/ Me

Me

B Me Me

.

Me
C Me Me

=

Me

~
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A ) ClhA
(i) CN-
(i) H,O/H*

QUERIB JORIeR ‘A’ 62a8 :

Question:

A Br

CH,CH;

» 4-bromophenyl acetic acid.



C CHj;
Br
D CH=CH,
Br
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AR6AQITANGLIRe, adin 8210e, 9e° K,CO, 9486 goaa @d e A &4 | edlidae A, KCN
JeQ goaal @6a 9e° 6J1da B @9 | 6415@ B @@ 2996 9@ 90 6156 C G | 6413a C 6208

Question: :

A (_l*:I_IS
HO—CHz—(lj—ClH—COOH
CH;0OH

B HO-CH,CH,—CH—-CH-COOH

CH, OH
c 0
HO
H,C O
H,C
D o)
H,;C
H,C 5
HO
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RS 9oRYl A9 QRIKRAR! 2EIER IR @ |
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(A) o-FIRETIZTAR, 9Q° p-AIRCSIAITAR. 62088 8 QIR |
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A (A) 9&° (C) 62282 A0Q @B |
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